



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council
FROM: Patrick Urich, City Manager *Patrick Urich*
DATE: August 8, 2014
SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Emergency Communications Center Report: July 2014

Attached is the ECC report for the month of July.

Notice of Unit Availability in Sterling Towers

Attached is a flyer from the Peoria Housing Authority (PHA) regarding available units in Sterling Towers.

Applications for Section 8 Housing Choice Voucher Program

Attached is a flyer from the Peoria Housing Authority (PHA) regarding the one day distribution of Section 8 Housing Choice Voucher applications.

Site Plan Review Board Agenda

The SPRB agenda from August 4th is attached. Any questions related to the listed projects should be directed to the Planner assigned to the case.

Housing Court Cases

The list of housing court cases scheduled for August 12th is attached.

Code Violation Cases

The list of Code violation cases scheduled for August 12th is attached.

Emergency Communications Center



Monthly Report July 2014

Peoria
9-1-1

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2014 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2013 Totals
Landbased 9-1-1 Calls	2,164	2,280	1,988	2,327	2,420	2,425	2,615						16,219	29,991
Wireless 9-1-1 Calls	5,742	5,389	6,170	6,209	6,910	7,022	7,089						44,531	74,753
TOTAL 9-1-1 CALLS	7,906	7,669	8,158	8,536	9,330	9,447	9,704	0	0	0	0	0	60,750	104,744
Peoria Police Incoming Calls	7,192	6,862	7,601	7,931	8,430	8,248	8,801						55,065	92,820
Sheriff's Police Incoming Calls	2,772	2,570	2,799	2,534	2,757	2,877	3,056						19,365	35,064
TOTAL POLICE INCOMING CALLS	9,964	9,432	10,400	10,465	11,187	11,125	11,857	0	0	0	0	0	74,430	127,884
Volunteer Fire/EMS toll free calls	54	47	45	44	26	20	50						286	448
Peoria Fire Incoming Calls	777	723	675	739	849	875	753						5,391	9,017
TOTAL FIRE INCOMING CALLS	831	770	720	783	875	895	803	0	0	0	0	0	5,677	9,465
Operator Assist Calls/Alarm Calls	1,035	1,004	834	908	835	937	882						6,435	10,052
Ambulance Incoming Calls	197	191	179	225	214	228	231						1,465	2,400
ECC Supervisor Incoming Calls	830	857	777	854	787	879	780						5,764	11,131
Richwoods Dispatcher Incoming Calls	77	78	70	78	78	87	86						554	1,166
Downtown Dispatcher Incoming Calls	76	68	88	71	56	50	70						479	729
Prep 2 Dispatcher Incoming Calls	570	603	718	836	823	675	663						4,888	8,953
C-MED Dispatcher Incoming Calls	54	52	38	31	4	31	45						255	676
County Sheriff Dispatcher Incoming Calls	50	56	52	40	57	47	45						347	596
Fire Dispatcher Incoming Calls	104	102	95	82	122	73	74						652	1,175
OverFlow Dispatcher Incoming Calls	20	16	6	19	5	11	11						88	123
Call Taker Incoming Calls	0	0	3	2	0	1	2						8	35
TOTAL INCOMING EXTENSION CALLS	1,781	1,832	1,847	2,013	1,932	1,854	1,776	0	0	0	0	0	13,035	24,584
TOTAL OUTGOING EXTENSION CALLS	6,089	5,850	6,030	5,625	5,916	5,714	5,443						40,667	64,140
Peoria Police Dispatches/On view	7,181	6,880	8,295	9,128	9,545	9,360	9,915						60,304	99,168
Peoria County Sheriff Dispatches/On view	2,382	2,135	2,181	2,349	2,680	2,528	2,540						16,795	27,701
TOTAL POLICE DISPATCHES/ON VIEW	9,563	9,015	10,476	11,477	12,225	11,888	12,455	0	0	0	0	0	77,099	126,869
Air National Guard Fire Dispatches	5	7	4	11	2	11	5						45	67
Akron-Princeville Fire Dispatches	18	18	19	34	16	23	14						142	234
Brimfield Fire Dispatches	26	33	33	40	32	33	27						224	316
Dunlap Fire Dispatches	36	29	27	36	32	24	25						209	364
Elmwood Fire Dispatches	14	15	15	14	9	13	12						92	150
Limestone Fire Dispatches	106	86	98	123	120	138	114						785	1,270
Logan-Trivoli Fire Dispatches	33	41	38	49	37	38	34						270	371
Peoria Fire Dispatches	1,652	1,472	1,563	1,534	1,562	1,537	1,609						10,929	18,315
Timber-Hollis Fire Dispatches	39	36	31	41	24	22	31						224	333
Tuscarora Fire Dispatches	2	2	4	5	5	7	3						28	34
West Peoria Fire Dispatches	53	27	62	34	38	47	40						301	522
MABAS Fire Calls	5	3	7	2	2	4	1						24	40
MABAS EMS Calls	0	0	0	0	0	0	0						0	0
TOTAL FIRE DISPATCHES	1,989	1,769	1,901	1,923	1,879	1,897	1,915	0	0	0	0	0	13,273	21,976
AMT Ambulance Dispatches	1,310	1,154	1,139	1,261	1,352	1,284	1,363						8,863	14,778
APA Ambulance Dispatches	10	15	15	18	12	15	11						96	189
BYE Ambulance Dispatches	41	45	40	32	33	40	36						267	474
TOTAL AMBULANCE DISPATCHES	1,361	1,214	1,194	1,311	1,397	1,339	1,410	0	0	0	0	0	9,226	15,441
Peoria County Coroner Incoming Calls	202	210	202	160	203	187	184						1,348	2,401
Community Messaging System Call-outs	12	9	39	22	41	18	16						157	189
Telephone Trouble Reports Completed	0	0	4	0	0	0	0						4	19
ETSB Equipment Trouble Reported	7	5	8	7	5	4	6						42	75
Citizen Concerns	1	3	0	2	7	4	6						23	20
CD Requests from State's Attorney's Office	2	3	2	9	3	11	4						34	72
CD Requests from FOI / Subpoena	6	3	5	4	5	9	5						37	41
CD Requests from Inner Departmental	3	7	6	7	8	7	8						46	108
Total Number of CD Requests	11	13	13	20	16	27	17	0	0	0	0	0	117	221
ILEAS Call Outs	0	0	0	0	0	0	0						0	0
JULIE Dig	65	163	85	65	53	49	62						542	617

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	20488	1.09	3.80	5.12	
Routine	19217	13.81	6.06	19.87	
Backlog	1202	22.69	6.91	29.60	
PEORIA COUNTY SHERIFF					
Urgent	2667	1.76	7.04	8.80	
Routine	3180	10.99	9.24	20.23	
Backlog	409	33.42	11.57	44.99	
		Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	26234	0.76	4.40	5.16	1.52

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY						BLUFF			RICHWOODS						Total Calls	Total Minutes	Calls	Average	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17					18
January 2014	Number of Calls	104	138	363	184	42	173	100	119	287	209	228	97	79	214	6	110	142	2595	0	(total min/total calls)
	Exceptions																		2567.5	2595	0.99
	Dispatch Response Time	1.3	0.7	0.9	0.8	1.1	0.9	1.0	0.7	0.7	1.0	1.3	1.0	0.9	1.3	3.6	1.2	1.2			
	Police Response Time	2.5	3.8	3.5	3.8	3.7	3.5	4.6	3.9	3.7	4.1	5.4	5.4	5.6	7.7	6.7	5.5	7.6	11927.5	2595	4.60
	Total time	3.8	4.5	4.4	4.6	4.8	4.4	5.6	4.6	4.4	5.1	6.7	6.4	6.5	9.0	10.3	6.7	8.8	14495.0	2595	5.59
February 2014	Number of Calls	104	82	298	174	54	175	73	110	244	166	182	110	71	194	8	118	114	2277	0	(total min/total calls)
	Exceptions																		2520.9	2277	1.11
	Dispatch Response Time	0.6	0.6	1.6	1.0	1.1	0.9	1.5	0.8	1.0	1.3	1.2	1.0	0.9	1.2	0.6	0.9	1.3			
	Police Response Time	2.6	4.1	3.8	3.5	3.5	3.3	6.1	3.7	3.5	6.0	4.6	4.9	5.5	7.1	10.0	4.7	7.2	10416.3	2277	4.57
	Total time	3.2	4.7	5.4	4.5	4.6	4.2	7.6	4.5	4.5	7.3	5.8	5.9	6.4	8.3	10.6	5.6	8.5	12937.2	2277	5.68
March 2014	Number of Calls	122	116	414	201	49	232	98	137	325	232	242	97	81	177	4	111	113	2751	0	(total min/total calls)
	Exceptions																		2853.0	2751	1.04
	Dispatch Response Time	0.6	0.7	1.1	1.1	0.6	0.9	1.7	0.9	0.8	1.1	1.2	0.9	1.3	1.1	5.3	1.3	1.2			
	Police Response Time	2.4	3.5	3.1	3.1	2.4	3.4	4.1	3.6	3.2	3.4	5.0	4.6	5.3	6.7	10.5	5.6	6.6	10916.3	2751	3.97
	Total time	3.0	4.2	4.2	4.2	3.0	5.8	4.5	4.0	4.5	6.2	5.5	6.6	7.8	15.8	6.9	7.8	13769.3	2751	5.01	
April 2014	Number of Calls	81	115	499	219	60	266	111	151	367	286	236	113	76	240	4	112	103	3039	0	(total min/total calls)
	Exceptions																		3225.3	3039	1.06
	Dispatch Response Time	0.7	1.0	1.0	0.9	0.9	1.0	1.3	1.0	1.3	1.0	1.0	0.8	1.4	1.0	6.7	1.3	1.3			
	Police Response Time	2.6	3.7	3.0	2.9	3.6	3.3	4.0	3.8	3.1	3.3	4.5	4.0	6.6	6.8	9.5	4.6	6.5	11831.6	3039	3.89
	Total time	3.3	4.7	4.0	3.8	4.5	5.3	4.8	4.4	4.3	5.5	4.8	8.0	7.8	16.2	5.9	7.8	15056.9	3039	4.95	
May 2014	Number of Calls	139	141	560	267	56	291	112	155	388	308	204	90	70	192	4	114	130	3221	0	(total min/total calls)
	Exceptions																		3985.7	3221	1.24
	Dispatch Response Time	1.3	1.2	1.2	1.3	0.8	1.1	0.9	1.0	1.6	1.4	1.7	0.9	0.5	1.0	0.7	1.6	0.8			
	Police Response Time	2.8	3.5	3.0	2.8	3.7	3.2	4.2	3.6	3.2	3.6	4.4	4.2	5.0	5.7	7.3	4.4	6.1	11871.3	3221	3.69
	Total time	4.1	4.7	4.2	4.1	4.5	5.1	4.6	4.8	5.0	6.1	5.1	5.5	6.7	8.0	6.0	6.9	15857.0	3221	4.92	
June 2014	Number of Calls	126	117	591	230	55	275	126	193	392	294	235	89	65	221	3	122	117	3251	0	(total min/total calls)
	Exceptions																		3583.5	3251	1.10
	Dispatch Response Time	1.2	0.7	1.1	1.2	0.8	1.2	0.8	0.9	0.9	1.1	1.7	1.2	1.5	1.1	1.0	0.8	1.3			
	Police Response Time	2.8	3.4	3.0	3.4	3.4	3.1	4.4	3.3	3.0	3.3	4.2	4.2	5.3	6.3	7.7	4.5	7.4	12218.1	3251	3.76
	Total time	4.0	4.1	4.1	4.6	4.2	5.2	4.2	3.9	4.4	5.9	5.4	6.8	7.4	8.7	5.3	8.7	15801.6	3251	4.86	
July 2014	Number of Calls	122	117	535	261	43	276	141	170	457	304	252	125	61	238	8	105	139	3354	0	(total min/total calls)
	Exceptions																		3664.7	3354	1.09
	Dispatch Response Time	0.9	0.9	1.1	0.9	1.1	0.8	0.8	1.1	1.1	1.0	1.2	0.9	0.9	1.1	14.0	1.9	1.5			
	Police Response Time	2.8	3.2	3.0	3.0	2.8	2.9	4.1	3.5	2.9	3.6	4.8	4.7	5.4	6.1	8.8	4.1	6.1	12544.7	3354	3.74

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

Total time	3.7	4.1	4.1	3.9	3.9	3.7	4.9	4.6	4.0	4.6	6.0	5.6	6.3	7.2	22.8	6.0	7.6	16209.4	3354	4.83
------------	-----	-----	-----	-----	-----	-----	-----	-----	-----	-----	-----	-----	-----	-----	------	-----	-----	---------	------	------

YEAR TO DATE TOTALS AND AVERAGES

Total Number of Calls	20488
Total Number of Exceptions	0
Average Dispatch Response Time	1.09
Average Police Response Time	3.80
Average Total Time	5.12

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS						Total Calls	Total Minutes	Calls	Average
	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18				
January 2014	Number of Calls	80	161	234	113	111	129	110	114	246	207	193	113	98	188	7	153	135	2392	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	7.9	9.5	7.9	10.4	9.9	11.6	9	10.4	11.2	10.7	11.6	8.8	11.3	9.5	9.8	11.9	13.9	24818.7	2392	10.38
	Police Response Time	4.6	6.8	5.4	5.4	6.5	5.5	6.9	5.9	5.7	5.6	6.5	8.1	7.4	8.7	11.1	8.8	9.2	15957.3	2392	6.67
Total time	12.5	16.3	13.3	15.8	16.4	17.1	15.9	16.3	16.9	16.3	18.1	16.9	18.7	18.2	20.9	20.7	23.1	40776.0	2392	17.05	
February 2014	Number of Calls	60	134	228	126	96	115	143	118	243	180	149	87	88	204	7	157	94	2229	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	8.3	9.6	10.1	11.8	9.8	5.8	11.8	8.3	13.2	14.7	12.0	8.7	8.5	10.9	13.1	12.7	17.7	24968.1	2229	11.20
	Police Response Time	5.2	6.5	5.8	5.4	5.7	5.0	6.5	6.0	5.4	5.8	7.5	6.8	7.4	8.6	10.1	8.6	9.3	14711.5	2229	6.60
Total time	13.5	16.1	15.9	17.2	15.5	10.8	18.3	14.3	18.6	20.5	19.5	15.5	15.9	19.5	23.2	21.3	27.0	39679.6	2229	17.80	
March 2014	Number of Calls	78	157	307	137	87	138	140	140	317	243	207	126	102	213	9	168	101	2670	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	8.9	15.0	11.4	16.3	12.3	11.9	14.5	12.4	17.5	16.6	14.9	14.9	15.0	15.9	2.1	15.6	12.6	38632.4	2670	14.47
	Police Response Time	4.5	5.1	4.7	4.4	5.1	5.2	6.8	6.0	5.6	5.1	6.0	7.4	7.6	8.1	10.4	8.5	7.8	16149.5	2670	6.05
Total time	13.4	20.1	16.1	20.7	17.4	17.1	21.3	18.4	23.1	21.7	20.9	22.3	22.6	24.0	12.5	24.1	20.4	54781.9	2670	20.52	
April 2014	Number of Calls	83	175	363	156	92	169	172	143	348	256	200	167	97	194	9	169	122	2915	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	14.6	13.4	14.0	17.1	15.8	15.7	14.7	17.7	17.8	15.4	16.2	16.6	13.7	17.5	6.7	14.5	17.7	46015.9	2915	15.79
	Police Response Time	4.7	5.8	4.4	5.3	5.5	4.5	5.4	5.3	5.3	5.0	6.7	6.6	7.2	8.3	12.0	8.0	7.3	17008.1	2915	5.83
Total time	19.3	19.2	18.4	22.4	21.3	20.2	20.1	23.0	23.1	20.4	22.9	23.2	20.9	25.8	18.7	22.5	25.0	63024.0	2915	21.62	
May 2014	Number of Calls	74	179	410	172	110	186	167	151	395	343	205	119	105	202	10	154	133	3115	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	9.7	12.8	13.3	16.5	14.2	12.6	16.8	16.3	17.3	17.4	14.0	10.9	11.4	16.5	36.1	15.1	15.0	46652.7	3115	14.98
	Police Response Time	4.7	5.7	4.6	4.2	6.5	4.7	6.3	5.5	5.1	5.1	6.3	7.2	7.4	8.0	12.2	7.5	7.5	18027.9	3115	5.79
Total time	14.4	18.5	17.9	20.7	20.7	17.3	23.1	21.8	22.4	22.5	20.3	18.1	18.8	24.5	48.3	22.6	22.5	64680.6	3115	20.76	
June 2014	Number of Calls	66	143	369	142	82	174	141	153	378	265	206	118	96	229	9	151	136	2858	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	12.8	12.0	13.5	15.9	15.4	12.2	11.9	13.8	16.1	16.9	14.7	13.6	8.5	15.2	33.8	12.5	18.7	41204.0	2858	14.42
	Police Response Time	4.4	4.9	4.7	4.5	6.2	4.4	6.1	5.0	4.9	5.4	6.1	7.0	7.1	8.6	13.1	7.2	8.6	16655.0	2858	5.83
Total time	17.2	16.9	18.2	20.4	21.6	16.6	18.0	18.8	21.0	22.3	20.8	20.6	15.6	23.8	46.9	19.7	27.3	57859.0	2858	20.24	
July 2014	Number of Calls	74	194	397	189	97	191	139	147	419	238	192	118	113	214	8	161	147	3038	0	(total min/total calls)
	Exceptions																				
	Dispatch Response Time	7.5	11.6	14.7	15.0	15.9	12.9	12.8	12.0	16.7	17.9	20.1	14.9	13.1	15.7	14.0	18.9	20.2	46865.0	3038	15.43
	Police Response Time																				

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

Police Response																						
Time	4.4	5.7	3.8	4.1	7.7	4.9	5.6	5.6	4.4	5.5	5.9	6.7	6.0	8.4	7.4	8.4	8.1	17153.2	3038	5.65		
Total time	11.9	17.3	18.5	19.1	23.6	17.8	18.4	17.6	21.1	23.4	26.0	21.6	19.1	24.1	21.4	27.3	28.3	64018.2	3038	21.07		
YEAR TO DATE TOTALS AND AVERAGES																						
Total Number of Calls																				19217		
Total Number of Exceptions																				0		
Average Dispatch Response Time																				13.81		
Average Police Response Time																				6.06		
Average Total Time																				19.87		

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls			
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19		(total min/total calls)	Average	
January 2014	Number of Calls	5	36	14	8	5	6	9	7	17	19	5	7	14	8	0	1	8	169	0	Calls	Average
	Exceptions																					
	Dispatch Response Time	22.0	19.5	9.9	12.9	6.4	1.5	36.4	23.0	34.4	18.1	12.8	14.6	36.5	8.1	0.0	4.0	14.6	3374.9	169	19.97	
	Police Response Time	12.6	8.7	4.4	5.8	5.8	3.3	9.3	8.1	7.3	5.2	4.6	7.7	9.5	8.7	0.0	0.0	11.8	1270.2	169	7.52	
Total time	34.6	28.2	14.3	18.7	12.2	4.8	45.7	31.1	41.7	23.3	17.4	22.3	46.0	16.8	0.0	4.0	26.4	4645.1	169	27.49		
February 2014	Number of Calls	4	45	11	4	2	3	8	4	16	20	13	7	13	12	0	6	10	178	0	Calls	Average
	Exceptions																					
	Dispatch Response Time	17.5	23.3	8.5	17.3	36.0	21.0	25.5	32.5	30.7	22.8	19.2	17.7	39.3	9.2	0.0	31.5	25.3	4134.2	178	23.23	
	Police Response Time	10.0	10.0	4.1	4.0	7.0	6.5	6.5	5.0	4.3	5.4	6.2	11.2	9.3	13.0	0.0	12.0	7.9	1420.3	178	7.98	
Total time	27.5	33.3	12.6	21.3	43.0	27.5	32.0	37.5	35.0	28.2	25.4	28.9	48.6	22.2	0.0	43.5	33.2	5554.5	178	31.21		
March 2014	Number of Calls	6	37	13	7	2	8	13	7	25	13	13	7	7	9	1	10	12	190	0	Calls	Average
	Exceptions																					
	Dispatch Response Time	15.8	20.4	18.0	25.1	29.0	17.5	30.1	22.3	21.9	23.9	26.8	32.0	13.4	31.3	0.0	31.7	22.2	4394.2	190	23.13	
	Police Response Time	3.3	7.3	5.8	4.0	3.0	4.4	5.4	5.2	5.6	4.5	7.8	5.7	7.7	6.8	19.0	8.2	8.0	1193.0	190	6.28	
Total time	19.1	27.7	23.8	29.1	32.0	21.9	35.5	27.5	27.5	28.4	34.6	37.7	21.1	38.1	19.0	39.9	30.2	5587.2	190	29.41		
April 2014	Number of Calls	6	44	14	8	4	10	5	11	17	19	15	7	7	12	0	10	6	195	0	Calls	Average
	Exceptions																					
	Dispatch Response Time	23.8	23.2	16.6	22.8	10.8	22.7	10.8	22.5	23.4	39.7	42.9	33.0	23.7	33.5	0.0	16.8	16.0	5008.6	195	25.69	
	Police Response Time	6.0	8.7	6.8	4.0	3.7	4.7	5.2	9.5	4.2	6.1	8.0	11.8	8.7	8.5	0.0	8.2	6.5	1412.1	195	7.24	
Total time	29.8	31.9	23.4	26.8	14.5	27.4	16.0	32.0	27.6	45.8	50.9	44.8	32.4	42.0	0.0	25.0	22.5	6420.7	195	32.93		
May 2014	Number of Calls	3	48	24	8	2	3	2	4	20	20	10	6	7	7	0	10	9	183	0	Calls	Average
	Exceptions																					
	Dispatch Response Time	7.3	12.7	28.7	27.8	40.0	4.0	11.0	2.0	25.1	24.9	17.4	20.2	23.1	26.4	0.0	24.5	41.6	3925.8	183	21.45	
	Police Response Time	9.5	7.4	7.1	4.8	9.0	9.3	5.5	7.5	6.3	5.1	5.8	6.0	6.9	8.2	0.0	8.2	10.9	1287.2	183	7.03	
Total time	16.8	20.1	35.8	32.6	49.0	13.3	16.5	9.5	31.4	30.0	23.2	26.2	30.0	34.6	0.0	32.7	52.5	5213.0	183	28.49		
June 2014	Number of Calls	3	36	62	10	6	16	13	11	47	26	16	5	9	12		7	8	287	0	Calls	Average
	Exceptions																					
	Dispatch Response Time	17.0	22.4	16.2	32.8	16.8	12.2	40.0	18.6	20.8	42.3	15.8	34.2	21.9	27.6	0.0	9.6	24.9	6506.3	287	22.67	
	Police Response Time	10.5	10.4	3.2	5.0	5.0	4.1	7.3	5.9	4.3	5.1	4.8	5.2	5.0	6.1	0.0	4.0	8.2	1559.0	287	5.43	
Total time	27.5	32.8	19.4	37.8	21.8	16.3	47.3	24.5	25.1	47.4	20.6	39.4	26.9	33.7	0.0	13.6	33.1	8065.3	287	28.10		

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

July 2014	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average (total min/total calls)
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
	Number of Calls	5	46	32	8	5	13	11	12	46	31	33	5	8	9		13	19	296			
	Exceptions																		0			
	Dispatch Response Time	24.2	22.5	18.5	19.6	10.4	16.3	40.7	25.1	30.0	17.2	13.6	17.4	15.0	16.6	0.0	21.0	24.4	6372.6	296	21.53	
	Police Response Time	3.8	9.2	2.6	3.4	5.8	5.8	5.5	5.6	4.3	5.1	6.4	7.0	6.6	8.8	0.0	8.0	6.1	1738.7	296	5.87	
	Total time	28.0	31.7	21.1	23.0	16.2	22.1	46.2	30.7	34.3	22.3	20.0	24.4	21.6	25.4	0.0	29.0	30.5	8111.3	296	27.40	
YEAR TO DATE TOTALS AND AVERAGES																						
																		Total Number of Calls		1202		
																		Total Number of Exceptions		0.0		
																		Average Dispatch Response Time		22.69		
																		Average Police Response Time		6.91		
																		Average Total Time		29.60		

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Total Minutes	Calls	Average
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
January 2014	Number of Calls	263	96	225	65	153	148	123	236	53	151	80	50	1643			(total min/total calls)
	Dispatch Response Time	0.6	0.8	0.4	0.4	0.9	0.4	1.1	1.5	2.7	0.3	0.8	0.3	1304.2	1643	0.79	
	Fire Response Time	3.8	4	4.2	4.6	4.2	5	4.6	5.4	4.3	5.1	6.3	6	7652.2	1643	4.66	
	Total time	4.4	4.8	4.6	5.0	5.1	5.4	5.7	6.9	7.0	5.4	7.1	6.3	8956.4	1643	5.45	
February 2014	Number of Calls	244	79	175	59	130	146	114	225	43	128	78	32	1453			(total min/total calls)
	Dispatch Response Time	0.7	0.6	0.6	1.2	0.4	0.4	1.1	1.0	0.5	0.6	0.8	0.5	1031.5	1453	0.71	
	Fire Response Time	3.8	4.3	3.8	5.9	4.2	5.2	4.3	5.3	5	4.8	5.5	5.5	6702.3	1453	4.61	
	Total time	4.5	4.9	4.4	7.1	4.6	5.6	5.4	6.3	5.5	5.4	6.3	6.0	7733.8	1453	5.32	
March 2014	Number of Calls	277	98	221	64	138	144	103	217	26	138	73	37	1536			(total min/total calls)
	Dispatch Response Time	0.5	0.4	0.9	0.4	0.8	2.0	0.6	0.5	1.0	0.7	1.1	0.9	1207.1	1536	0.79	
	Fire Response Time	3.5	3.7	4	4.9	4.1	4.7	4.3	4.9	5.1	4.7	5.8	5.6	6690.3	1536	4.36	
	Total time	4.0	4.1	4.9	5.3	4.9	6.7	4.9	5.4	6.1	5.4	6.9	6.5	7897.4	1536	5.14	
April 2014	Number of Calls	279	90	207	62	140	144	122	218	49	122	63	35	1531			(total min/total calls)
	Dispatch Response Time	0.6	1.9	0.6	1.2	0.8	1.3	0.5	0.9	1.2	0.3	0.5	0.3	1230.8	1531	0.80	
	Fire Response Time	3.5	3.6	4	4.9	4.1	4.4	4.2	4.8	5.3	4.6	5.5	5.5	6558.6	1531	4.28	
	Total time	4.1	5.5	4.6	6.1	4.9	5.7	4.7	5.7	6.5	4.9	6.0	5.8	7789.4	1531	5.09	
May 2014	Number of Calls	272	105	239	61	153	145	108	179	34	141	65	33	1535			(total min/total calls)
	Dispatch Response Time	0.9	0.4	0.5	0.3	0.5	0.8	0.8	1.2	0.2	0.3	2.3	1.1	1153.2	1535	0.75	
	Fire Response Time	3.5	3.7	4	5.6	3.9	4.4	4.3	4.7	5.0	4.7	5.6	5.2	6546.8	1535	4.27	
	Total time	4.4	4.1	4.5	5.9	4.4	5.2	5.1	5.9	5.2	5.0	7.9	6.3	7700.0	1535	5.02	
June 2014	Number of Calls	298	219	105	63	152	137	84	201	41	124	73	33	1530			(total min/total calls)
	Response Time	0.8	0.9	0.5	0.9	0.6	0.7	1.3	1.2	0.3	0.6	0.4	0.3	1208.0	1530	0.79	
	Time	3.4	4	4	5.2	3.9	4.6	4.5	4.7	4.9	4.7	6.1	4.7	6566.6	1530	4.29	
	Total time	4.2	4.9	4.5	6.1	4.5	5.3	5.8	5.9	5.2	5.3	6.5	5.0	7774.6	1530	5.08	
July 2014	Number of Calls	279	111	222	83	155	165	112	208	45	129	70	27	1606			(total min/total calls)
	Response Time	0.9	0.7	0.6	0.4	0.5	1.9	0.6	0.3	0.5	0.4	0.6	0.1	1134.6	1606	0.71	
	Time	3.4	4	3.9	5.3	3.8	4.7	4.2	4.9	4.5	4.8	5.5	6.4	6931.9	1606	4.32	
	Total time	4.3	4.7	4.5	5.7	4.3	6.6	4.8	5.2	5.0	5.2	6.1	6.5	8066.5	1606	5.02	
YEAR TO DATE TOTALS AND AVERAGES																	

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

Total Number of Calls	26234
Average Dispatch Response Time	0.76
Average Fire Response Time	4.40
Average Total Time	5.16

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.6	1.5	1.4	1.4	1.3	1.5						1.46
E1	1.7	1.6	1.6	1.5	1.5	1.6	1.5						1.57
R1	1.5	1.4	1.5	1.4	1.4	1.4	1.5						1.44
T1	1.8	1.4	1.8	1.6	1.6	1.6	1.7						1.64
E10	1.7	1.5	1.6	1.5	1.5	1.5	1.5						1.54
E12	1.6	1.8	1.5	1.5	1.4	1.6	1.6						1.57
E13	1.6	1.6	1.6	1.4	1.5	1.5	1.5						1.53
T14	1.7	2.1	1.5	1.4	1.5	1.4	1.5						1.59
E15	1.7	1.7	1.8	1.7	1.6	1.6	1.6						1.67
E16	1.7	1.6	1.5	1.4	1.4	1.4	1.4						1.49
E19	1.8	1.8	1.8	1.6	1.7	1.6	1.6						1.70
E2	1.6	1.6	1.6	1.6	1.4	1.5	1.5						1.54
R2	1.5	1.5	1.4	1.4	1.3	1.5	1.3						1.41
E20	1.8	1.6	1.7	1.6	1.5	1.7	1.6						1.30
B3	1.6	1.7	1.6	1.5	1.7	1.5	1.5						1.59
E3	1.3	1.3	1.3	1.3	1.2	1.3	1.2						1.27
T3	1.6	1.5	1.7	1.5	1.6	1.5	1.4						1.54
E4	1.5	1.8	1.5	1.4	1.4	1.4	1.3						1.47
T4	1.5	2.2	1.5	1.6	1.5	1.6	1.6						1.64
												Department Average	1.52

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Calls	Average
		Number of Calls														
January 2014	Number of Calls	5	2	9	2	91	80	51	19	36	28	64		387		
	Exceptions													0		
	Dispatch Response Time	1.8	8.5	1.0	0.0	1.7	2.0	1.6	1.0	0.7	1.3	1.8		627.1	387	1.62
	Police Response Time	4.6	12.5	9.1	14.0	8.2	8.0	12.7	7.6	3.4	8.5	4.5		2984.6	387	7.71
	Total time	6.4	21.0	10.1	14.0	9.9	10.0	14.3	8.6	4.1	9.8	6.3		3611.7	387	9.33
February 2014	Number of Calls	2	2	4	0	82	61	34	5	18	34	58		300		
	Exceptions													0		
	Dispatch Response Time	1.0	1.0	0.3	0.0	1.6	1.4	1.3	1.6	0.8	2.4	1.4		451.2	300	1.50
	Police Response Time	1.0	21.0	11.0	0.0	9.0	8.8	10.9	6.2	2.9	9.2	5.1		2425.2	300	8.08
	Total time	2.0	22.0	11.3	0.0	10.6	10.2	12.2	7.8	3.7	11.6	6.5		2876.4	300	9.59
March 2014	Number of Calls	3	10	7	1	77	80	40	5	21	36	89		369		
	Exceptions													0		
	Dispatch Response Time	3.0	0.9	1.6		2.6	1.6	1.6	0.5	0.6	2.7	1.3		649.4	369	1.76
	Police Response Time	4.3	15.0	8.0	15.0	7.6	6.9	12.9	7.5	3.9	6.5	3.8		2578.7	369	6.99
	Total time	7.3	15.9	9.6	15.0	10.2	8.5	14.5	8.0	4.5	9.2	5.1		3228.1	369	8.75
April 2014	Number of Calls	3	2	9	1	105	78	48	14	29	40	63		392		
	Exceptions													0		
	Dispatch Response Time	4.7	0.0	1.5	0.0	2.0	2.6	3.3	1.4	0.5	1.0	1.2		748.5	392	1.91
	Police Response Time	1.5	16.5	4.1	14.0	7.7	7.2	11.1	6.4	3.9	6.2	3.4		2656.2	392	6.78
	Total time	6.2	16.5	5.6	14.0	9.7	9.8	14.4	7.8	4.4	7.2	4.6		3404.7	392	8.69
May 2014	Number of Calls	3	2	8	3	82	103	43	8	26	45	92		415		
	Exceptions													0		
	Dispatch Response Time	1.0	4.0	1.7	0.7	1.5	2.3	1.7	0.7	1.8	1.9	2.2		800.0	415	1.93
	Police Response Time	4.0	8.0	7.5	12.0	6.9	6.8	10.5	5.9	3.8	8.0	4.1		2724.9	415	6.57
	Total time	5.0	12.0	9.2	12.7	8.4	9.1	12.2	6.6	5.6	9.9	6.3		3524.9	415	8.49
June 2014	Number of Calls	7	3	10	0	106	101	50	15	30	34	84		440		
	Exceptions													0		
	Dispatch Response Time	1.8	1.3	3.7	0.0	1.8	1.7	1.1	0.5	1.7	2.0	1.4		715.1	440	1.63
	Police Response Time	2.2	20.7	5.2	0.0	7.0	6.0	12.2	5.9	3.5	6.9	3.8		2834.8	440	6.44
	Total time	4.0	22.0	8.9	0.0	8.8	7.7	13.3	6.4	5.2	8.9	5.2		3549.9	440	8.07
July 2014	Number of Calls	3	4	10	1	103	69	48	10	29	17	70		364		
	Exceptions													0		
	Dispatch Response Time	4.5	0.5	0.8	1.0	1.7	2.7	3.6	2.0	1.1	1.0	1.3		718.6	364	1.97

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Peoria County Sheriff's Department
Urgent calls for service by district

Police Response														
Time	3.0	9.8	8.0	16.0	6.8	6.0	12.2	11.0	3.8	6.1	4.1			
Total time	7.5	10.3	8.8	17.0	8.5	8.7	15.8	13.0	4.9	7.1	5.4	2455.1	364	6.74
YEAR TO DATE TOTALS AND AVERAGES														
Total Number of Calls														2667
Total Number of Exceptions														392
Average Dispatch Response Time														1.76
Average Police Response Time														7.04
Average Total Time														8.80

City of Peoria
Emergency Communications Center

Peoria County Sheriff's Department
Routine calls by district

Month	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average
January 2014	Number of Calls	35	4	8	3	91	121	51	5	47	41	77		483			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	8.7	18.3	3.0	17.3	11.0	8.9	10.4	9.2	8.7	6.9	9.4		4523.5	483	9.37	
	Police Response Time	3.7	19.8	5.3	22.0	12.1	10.0	15.6	6.0	4.9	8.8	6.1		4514.6	483	9.35	
	Total time	12.4	38.1	8.3	39.3	23.1	18.9	26.0	15.2	13.6	15.7	15.5		9038.1	483	18.71	
February 2014	Number of Calls	11	8	5	4	87	128	54	5	19	41	64		426			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.4	16.1	9.6	5.7	11.6	10.1	14.6	40.4	9.2	9.3	8.4		4700.1	426	11.03	
	Police Response Time	4.5	18.3	9.3	21.3	12.0	10.0	15.1	19.4	4.5	9.3	5.0		4350.8	426	10.21	
	Total time	14.9	34.4	18.9	27.0	23.6	20.1	29.7	59.8	13.7	18.6	13.4		9050.9	426	21.25	
March 2014	Number of Calls	33	11	5	1	116	116	56	14	29	47	92		520			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	8.1	8.1	10.2		14.2	13.0	8.7	16.3	9.2	13.4	12.2		6297.0	520	12.11	
	Police Response Time	4.8	17.5	6.6	0.0	10.8	9.1	14.4	15.2	6.6	11.8	5.5		4963.5	520	9.55	
	Total time	12.9	25.6	16.8	0.0	25.0	22.1	23.1	31.5	15.8	25.2	17.7		11260.5	520	21.65	
April 2014	Number of Calls	28	5	8	1	96	131	61	17	34	42	100		523			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	9.7	14.4	23.1	0.0	9.2	12.8	10.4	4.4	10.5	6.7	15.4		5976.0	523	11.43	
	Police Response Time	6.3	16.4	7.1	0.0	9.6	8.9	11.7	10.1	4.5	8.1	6.0		4381.3	523	8.38	
	Total time	16.0	30.8	30.2	0.0	18.8	21.7	22.1	14.5	15.0	14.8	21.4		10357.3	523	19.80	
May 2014	Number of Calls	41	9	14	1	140	194	52	9	36	57	88		641			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	4.3	5.8	14.3	9.0	10.3	10.3	6.5	11.4	9.4	17.4	14.0		6880.7	641	10.73	
	Police Response Time	4.8	19.0	6.9	0.0	10.0	9.4	12.8	16.6	6.5	8.7	5.7		5734.5	641	8.95	
	Total time	9.1	24.8	21.2	9.0	20.3	19.7	19.3	28.0	15.9	26.1	19.7		12615.2	641	19.68	
June 2014	Number of Calls	28	8	6	4	115	148	66	13	44	51	104		587			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.4	1.5	6.0	8.0	12.4	9.5	10.0	11.2	13.3	9.8	14.7		6622.6	587	11.28	
	Police Response Time	5.9	23.3	7.3	19.8	10.1	8.6	12.3	12.8	5.6	8.5	6.9		5284.6	587	9.00	
	Total time	16.3	24.8	13.3	27.8	22.5	18.1	22.3	24.0	18.9	18.3	21.6		11907.2	587	20.28	

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Peoria County Sheriff's Department
Routine calls by district

County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		(total min/total calls)	
	Number of Calls	24	7	5	2	159	140	71	16	34	60	107	625	0		
July 2014	Exceptions															
	Dispatch Response Time	18.2	13.7	36.7	19.5	11.6	11.3	8.4	9.3	11.9	8.0	13.3		7234.5	625	11.58
	Police Response Time	7.4	17.3	12.6	8.5	10.5	9.2	13.6	15.4	4.2	8.3	5.9		5820.3	625	9.31
	Total time	25.6	31.0	49.3	28.0	22.1	20.5	22.0	24.7	16.1	16.3	19.2		13054.8	625	20.89
YEAR TO DATE TOTALS AND AVERAGES																
Total Number of Calls												3180.0				
Total Number of Exceptions												0				
Average Dispatch Response Time												10.99				
Average Police Response Time												9.24				
Average Total Time												20.23				

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
		Number of Calls															
January 2014	Number of Calls	12	1	2	0	8	10	6	4	1	2	0		46			
	Exceptions													0			
	Dispatch Response Time	80.3	17.0	0.5	0.0	19.0	10.6	11.3	4.0	11.0	49.5	0.0		1433.4	46	31.2	
	Police Response Time	21.8	0.0	1.0	0.0	11.3	6.7	13.2	7.0	0.0	28.0	0.0		584.2	46	12.7	
	Total time	102.1	17.0	1.5	0.0	30.3	17.3	24.5	11.0	11.0	77.5	0.0	0.0	2017.6	46	43.9	
February 2014	Number of Calls	0	6	1	4	7	10	1	9	0	0	6		44			
	Exceptions													0			
	Dispatch Response Time	174.5	1.0	0.0	0.0	6.8	6.3	20.4	12.0	8.6	14.4	34.9		454.4	44	10.3	
	Police Response Time	30.0	22.0	0.0	0.0	12.8	12.3	12.6	7.0	12.1	5.8	14.3		506.0	44	11.5	
	Total time	204.5	23.0	0.0	0.0	19.6	18.6	33.0	19.0	20.7	20.2	49.2	0.0	960.4	44	21.8	
March 2014	Number of Calls	12	0	1	0	10	8	6	2	1	5	8		53			
	Exceptions													0			
	Dispatch Response Time	148.0		18.0		18.5	45.3	4.5	0.5	5.0	16.4	15.9		2583.6	53	48.7	
	Police Response Time	20.3		14.0	0.0	16.1	5.5	15.4	2.0	6.0	14.6	5.9		684.9	53	12.9	
	Total time	168.3	0.0	32.0	0.0	34.6	50.8	19.9	2.5	11.0	31.0	21.8	0.0	3268.5	53	61.7	
April 2014	Number of Calls	9	0	4	0	6	9	11	0	3	7	6		55			
	Exceptions													0			
	Dispatch Response Time	161.2	0.0	6.0	0.0	6.7	9.8	14.5	0.0	48.0	21.4	48.5		2347.5	55	42.7	
	Police Response Time	15.0	0.0	3.8	0.0	17.6	4.7	17.5	0.0	11.0	6.3	5.2		598.9	55	10.9	
	Total time	176.2	0.0	9.8	0.0	24.3	14.5	32.0	0.0	59.0	27.7	53.7	0.0	2946.4	55	53.6	
May 2014	Number of Calls	12	0	3	0	3	16	4	0	2	7	11		58			
	Exceptions													0			
	Dispatch Response Time	137.5	0.0	3.0	0.0	1.7	17.3	11.8	0.0	1.0	38.9	18.8		2469.2	58	42.6	
	Police Response Time	17.3	0.0	6.3	0.0	15.3	9.8	29.8	0.0	1.5	11.4	6.5		702.7	58	12.1	
	Total time	154.8	0.0	9.3	0.0	17.0	27.1	41.6	0.0	2.5	50.3	25.3	0.0	3171.9	58	54.7	
June 2014	Number of Calls	8	1	3	1	13	13	12	0	3	2	9		65			
	Exceptions													0			
	Dispatch Response Time	146.1	1.0	28.0	0.0	9.4	4.8	4.7	0.0	1.7	39.0	17.9		1739.0	65	26.8	
	Police Response Time	19.3	26.0	1.0	18.0	12.5	7.6	11.3	0.0	6.0	9.5	8.3		710.0	65	10.9	
	Total time	165.4	27.0	29.0	18.0	21.9	12.4	16.0	0.0	7.7	48.5	26.2	0.0	2449.0	65	37.7	
July 2014	Number of Calls	12	0	3		14	28	3	2	9	8	9		88			
	Exceptions													0			
	Dispatch Response Time	144.2	0.0	51.0	0.0	8.3	9.4	29.0	0.0	15.1	13.4	22.0		2790.9	88	31.7	
	Police Response Time	18.8	0.0	4.0	0.0	9.4	9.4	15.0	12.5	5.4	7.6	6.9		873.9	88	9.9	
	Total time	163.0	0.0	55.0	0.0	17.7	18.8	44.0	12.5	20.5	21.0	28.9	0.0	3664.8	88	41.6	

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Backlog Calls for Service by District

YEAR TO DATE TOTALS AND AVERAGES	
Total Number of Calls	409
Total Number of Exceptions	0.0
Average Dispatch Response Time	33.42
Average Police Response Time	11.57
Average Total Time	44.99



UNITS AVAILABLE

PEORIA HOUSING AUTHORITY

STERLING TOWERS

The Peoria Housing Authority is currently trying to fill units in our Sterling Tower's facility which serves the Elderly and Disabled population. PHA is accepting applications for individuals that are 62 years old or older.

Sterling Towers offers quality living in a safe environment along with a Supportive Services staff member to see to any client needs. The on-site Service Coordinator can help individuals apply for needed benefits such as food stamps, disability, benefits access and lifeline assistance. We also offer on-going programs on-site such as: health and wellness programs, computer classes, job readiness classes, adult literacy and many more designed to improve residents quality of life and allow them to age-in-place.

WHO: Low-income person/families who are 62 years old or older.

WHEN: **Applications are currently being accepted.**

WHERE: Peoria Housing Authority Administration building, 100 S. Richard Pryor Pl, Peoria

HOW: Come to the Peoria Housing Authority between 9:00 a.m through 5:00 p.m. to pick up an application.

We would like to fill these open vacancies as soon as possible. We will be accepting applications from individuals 62 years old or older on a first come, first serve basis.

THERE IS NO WAITING LIST!!!

If you are Elderly or Disabled and the head of household and physically unable to come to the office, an application may be mailed to you.

Please Note: PHA is looking to fill these open units with individuals who are elderly (62 years old or older).

Questions should be directed to Catrese Hobson at 676-8736 ext. 14079





APPLICATIONS FOR HOUSING ASSISTANCE

PEORIA HOUSING AUTHORITY

Section 8 Housing Choice Voucher Program

The Peoria Housing Authority will accept applications from families and person who are in need of financial rental assistance. The application process will be to compile names for a waitlist for the Housing Choice Voucher Program. Applications will be distributed for **ONE DAY ONLY!**

WHO: Low-income person/families needing financial assistance paying rent

WHAT: **Applications will be distributed for one day only**

WHEN: **Monday, August 18, 2014, 9:00 a.m. through 6:00 p.m.**

WHERE: Peoria Housing Authority Administration building, 100 S. Richard Pryor Pl, Peoria

HOW: Come to the Peoria Housing Authority on Monday, August 18, 2014, between 9:00 a.m through 6:00 p.m. to pick up an application.

The application and necessary documents must be returned on Friday, August 22, 2014, between 9:00 a.m. and 6:00 p.m. ONLY. NO EXCEPTIONS!!!

YOU WILL BE PLACED ON THE WAITING LIST ACCORDING TO PREFERENCE, DATE AND TIME OF THE RETURNED APPLICATION.

If you are Elderly or Disabled and the head of household and physically unable to come to the office, an application may be mailed to you. All requests for an application to be mailed must be received before 5:00 p.m. on Friday, August 15, 2014.

Please Note: All applications will be due back on Friday, Augst 22, 2014 from 9:00 a.m. through 6:00 p.m. **NO LATE APPLICATIONS WILL BE ACCEPTED! DOORS WILL CLOSE PROMPTLY AT 6:00 P.M.**

Again: All applications will be placed together and your position on the waiting list will be determined based on the date, time and claimed preference. **Please do not call the office to see what number you are! This information will NOT be released.**

Questions should be directed to Stephanie Lowery at 676-8736.





SITE PLAN REVIEW BOARD AGENDA

Plans Distributed: August 4, 2014

Comments Due: August 11, 2014

Project ID	Address	Project Type	Project Description
14-220	14-20-101-002 5407 N University St	Site Plan Review Board - Zoning Certificate	ICC Facilities Bldg - (Council District 4) - KS
14-224	14-34-130-013 2901 N Prospect Rd	Site Plan Review Board - Zoning Certificate	Change of Use – Church - (Council District 3) - ST
14-228	14-19-327-006 2425 W Farrelly Ave	Site Plan Review Board - Zoning Certificate	Change of Use - Massage Therapy - (Council District 4) - KS
14-232	18-04-331-006 221 NE Glen Oak Ave	Site Plan Review Board - Zoning Certificate	Exterior Reclad - Methodist - (Council District 2) - ST
14-233	18-04-303-013 641/637 Main St	Site Plan Review Board - Zoning Certificate	Change of Use - Church - (Council District 2) - ST
14-208	14-28-101-003 4204 N Sheridan Rd	Zoning Board of Appeals - Major Variance	Revision – Dairy Queen - Setback, landscaping, and parking variances - (Council District 3) - ST
14-223	14-06-427-006 2251 Altorfer Rd	Site Plan Review Board - Zoning Certificate	Antenna addition - (Council District 5) - LA
14-230	14-34-183-002 14-34-200-005 14-34-401-001 14-34-332-015 2218 N Prospect Rd	CPZ Commission - Special Use	Special Use - Children's Museum - (Council District 3) - ST
14-190	14-30-126-005 2601 W Lake	Site Plan Review Board - Zoning Certificate	Revision - Westlake B-8 – Admin Special Use - (Council District 4) - KS

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org

HOUSING COURT 8/12/14

35 CASES

DAN	C	09:00 AM	FOOD SERVICE EQUIPMENT CORP	HC-13-695	WASHINGTON 0801 SW	12-Aug-14	REVIEW/PENDING
DG	O	09:45 AM	BOND LOUIS	HC-14-341	HANSSLER 1014	12-Aug-14	REVIEW
DG	NO	09:45 AM	G & N ENTERPRISES INC	HC-14-342	HANSSLER 1018	12-Aug-14	REVIEW
DG	NO	09:45 AM	SHORT MATT	HC-13-428	VIRGINIA 0237 W	12-Aug-14	REHEARING/DEFAULT \$500
GW	NO	09:45 AM	G & P DEVELOPMENT	HC-14-421	LIVINGSTON 1415	12-Aug-14	REVIEW
KD	C	09:00 AM	COOPER TERRY	HC-13-619	ADAMS 2028 SW	12-Aug-14	REVIEW
KD	C	09:00 AM	TALLON EDWARD/DOROTHY	HC-14-424	MAIN 0905 W	12-Aug-14	REVIEW
KD	C	09:00 AM	MUIR OMNI GRAPHICS	HC-14-423	MAIN 0911 W (RIGHT)	12-Aug-14	REVIEW
LA	O	09:00 AM	HODGE TED	HC-14-452	SAYMORE 3105	12-Aug-14	FIRST APPEARANCE
LE	NO	09:00 AM	HIS HELPING HANDS	HC-12-404	CALLENDER 1810	12-Aug-14	REVIEW/DEFAULT \$500 PEND.
LE	NO	09:00 AM	THOMAS JOANNE	HC-14-314	COLUMBIA TERR 1113	12-Aug-14	REHEARING/DEFAULT \$700
LE	VA	09:00 AM	WYATT JAMES	HC-09-614	ELLIS 1025 N	12-Aug-14	REVIEW/DEFAULT PEND \$500
LE	NO	09:00 AM	REEVES PETER	HC-12-127	FRINK 1115 N	12-Aug-14	REVIEW/DEFAULT PEND \$500
LE	NO	09:00 AM	SALLY O	HC-14-274	MISSOURI 1713	12-Aug-14	REVIEW
LE	O	09:00 AM	KERNS DAN	HC-14-075	MOSS 1109 W	12-Aug-14	REVIEW
LE	NO	09:00 AM	FOSTER JAMES	HC-14-166	NEW YORK 1815	12-Aug-14	REVIEW
LE	NO	09:00 AM	HUFF DEREK	HC-14-160	RAVINE 0703 E	12-Aug-14	REVIEW
PM	O	09:00 AM	POND APRIL	HC-14-449	DAYTON 4118	12-Aug-14	FIRST APPEARANCE
PM	NO	09:00 AM	LH PEORIA INVESTMENTS	HC-14-450	DELAWARE 2410	12-Aug-14	FIRST APPEARANCE
PM	O	09:00 AM	BROWN NICHOLAS	HC-14-172	MADISON 3112 NE	12-Aug-14	REHEARING/DEFAULT \$1000
PM	NO	09:00 AM	SALEM BROS INVESTMENTS	HC-14-451	McCLURE 906 E	12-Aug-14	FIRST APPEARANCE
PM	NO	09:00 AM	CASTRO XIAOMEI	HC-13-701	MONROE 1201 NE	12-Aug-14	REHEARING/DEFAULT \$1000
PM	NO	09:00 AM	MADIGAN PATRICK	HC-14-362	MONROE 1307 NE	12-Aug-14	REVIEW
PM	NO	09:00 AM	MAJEED LAYLA	HC-14-409	SPRING 0304	12-Aug-14	1st APP
RM	O	09:00 AM	TOLBERT CALLIE	HC-13-228	ADRIAN HINTON 1014	12-Aug-14	REVIEW
RM	O	09:00 AM	DOROTHY PEARSON FAM TRUST	HC-14-299	DECHMAN 2712	12-Aug-14	REVIEW
RM	O	09:00 AM	WILLIAMS CHERYL	HC-14-102	FRYE 0410 E	12-Aug-14	REVIEW
RM	NO	09:00 AM	CJD PROPERTIES	HC-14-416	MACHIN 1812	12-Aug-14	REVIEW
RM	O	09:00 AM	COVER JENNIFER & BUTLER KINNIE	HC-13-727	PEORIA 2636 N	12-Aug-14	REVIEW
RM	NO	09:45 AM	WOOLERY JOHN	HC-14-281	THIRD 1019	12-Aug-14	REVIEW

NUMBER OF CASES ON DOCKET 27

PAID	CASE NO.	DEFENDANT	PROPERTY ADDRESS	PRE-HEARING FINE AMOUNT	INSPECTOR	COMMENTS
X	14-CV-0857	ANDRADA, WILMER	805 W RUSSELL ST	\$50	LE	PAID ON 7/28/14
X	14-CV-0858	ANDRADA, WILMER	717 W RUSSELL ST	\$50	LE	PAID ON 7/28/14
	14-CV-0861	BODDIE, OSCAR	423 W COLUMBIA TER	\$50	LE	1ST APP
X	14-CV-0800	BOON, TERESA	2215 N CENTRAL AVE	\$50	PM	PAID ON 7/15/14
	14-CV-0862	DIES, TERRI	1211 N ELLIS ST	\$50	LE	1ST APP
	14-CV-0845	FREIDT, ANTHONY	1309 E HILLCREST PL	\$50	PM	1ST APP
X	14-CV-0854	GERBER, GERALD	1013 N ELLIS ST	\$50	LE	PAID ON 7/17/14
	14-CV-0870	GUERRERO, JOSE	907 E NEBRASKA AVE	\$50	PM	1ST APP
X	14-CV-0867	HINTON, ANNA	2020 N ATLANTIC AVE	\$50	PM	PAID ON 7/16/14
	14-CV-0844	IVORY-HAYES, TERESA	1119 E MCCLURE AVE	\$100	PM	1ST APP
X	14-CV-0821	KHUNKHUN, BAHADAR	1110 N INSTITUTE PL	\$50	LE	PAID ON 7/15/14
	14-CV-0822	LEPRETRE, JULES	1028 NE GLENDALE AVE	\$100	PM	DISMISSED - PER SYED ON 7/17/14
	14-CV-0868	LILLY, JEROME AND KIMBERLY	807 E VIRGINIA AVE	\$50	PM	1ST APP
	14-CV-0852	LOPOTKO, KELLY	501 W COLUMBIA TER	\$100	LE	1ST APP
	14-CV-0823	MESSIAH PROPERTIES	1113 NE GLENDALE AVE	\$50	PM	1ST APP
	14-CV-0849	MONTOYA, JOSE	1117 E VIRGINIA AVE	\$50	PM	1ST APP
X	14-CV-0855	MYERS, JAIME	1309 W MOSS AVE	\$50	LE	PAID ON 7/28/14
	14-CV-0829	OLSEN, STEVEN	2300 N ELLIS ST	\$50	DG	1ST APP
X	14-CV-0872	OSF HEALTHCARE SYSTEM	1013 N NORTH ST	\$50	LE	PAID ON 7/30/14
	14-CV-0847	PEORIA POST	1323 E HILLCREST PL	\$50	PM	1ST APP
	14-CV-0866	RINGENBERG, STEVEN	1015 N SHERIDAN PL	\$50	LE	1ST APP
	14-CV-0848	SMALLWOOD, STERLING M.	804 E TRIPP AVE	\$50	PM	1ST APP
	14-CV-0856	STASZ, GLORIA	2408 N CENTRAL AVE	\$50	PM	DISMISSED - NOT OWNER
	14-CV-0859	TILLMAN, STEPHANIE	1218 N ELLIS ST	\$100	LE	1ST APP
	14-CV-0869	WALLENFANG, ROBERT	1901 N PROSPECT RD	\$100	PM	1ST APP
X	14-CV-0860	WILLIAMSON, MAXINE	717 W ARMSTRONG AVE	\$50	LE	PAID ON 8/1/14
	14-CV-0853	WOLFF, ROBERTA	1111 N SHERIDAN RD	\$50	LE	1ST APP